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TOEIC PART3-2 ENGLISH BELL.

Choose the best answer.

1. What does the man have to do today?

A) Visit his lawyer C) Go to the doctor
B) Get a massage D) Make an appointment

2. What can be inferred from the conversation?
A) The woman is the man's receptionist.
B) The lawyer works in the same building.
C) The woman has no deadlines today.

D) The man and woman have a meeting this afternoon.

3. What does the woman offer to do for the man?
A) Answer his phone
B) Call his lawyer
C) Pick up the newspaper

D) Take notes at the meeting



